Nykopings BS

KM Par 2 2024-01-24

Partavling, 6 bord, 12 par. Antal brickor: 22. Medel: 110.0.

Plac Par Poang % Namn MID Klubb
1 6 142 64.55 Ingegard Andersson - Bjorn-Erik Oberg 2813 2152 Stigtomta BK - BK Sang, Oxel6sund
2 3 133 60.45 Annika Reuter - Solweig Pettersson 49821 49820 Nykdpings BS
3 9 129 58.64  Christian Moller - Lars-Goran Bertilsson 13536 13622  Nykdpings BS
4 7 128 58.18 Kjell Hellstrand - Britt Hellstrand 16125 16126  Stigtomta BK
5 2 106 48.18 Marie Hildingsson - Roy Krantz 31825 12530  Stigtomta BK - Nykdpings BS
6 11 103 46.82 Bo Lind - Paul Lundin 1452 7574  Nykopings BS
7 1 102 46.36  Bo Ytterstrom - Sven Andersson 13000 6682 BK Sang, Oxelésund
8 8 98 44.55 Maud Bergkvist - Beryl Johnsson 4354 62315 Nykopings BS - BK Sang, Oxelésund
9 5 96 43.64 Bjorn Wenngren - Kent Lindstrom 8719 201512 Stigtomta BK
10 4 95 43.18 Margareta Bertilsson - Annica Liewenborg 8654 62776  Nykopings BS
10 10 95 43.18 Christer Fridell - Thomas Gronlund 1329 46270 Nykodpings BS
12 12 93 42.27  Karin Hamqvist - Birgitta Schénn 52099 34971 Nykdpings BS
1 # EK8532 Basta kontrakt 2 a4 Basta kontrakt 3 4 Kn1072 Basta kontrakt
Nord vE64 5¢ O =-400 Ost v 10954 44 O =-420 Syd v EK643 ANT S =430
Ingen ¢ 105 NS + Kn95 ov + K73
+D4 & ¢ v & NT #ED1052 & ¢ v & NT *Kn & ¢ v & NT
a- 4 Kn1096 N52586 4 K109876 4 DKn52 N8 48 36 463 4 KD84 N 8 9 10109
vKKn9832 v- S6 2777 vKD vE7 S 84836 v 1075 v D82 S 8 9 101010
¢ EKn98 ¢+ D6432 O 8 116 5 6 + 106 ¢ EK743 O 4 85 107 +D10864 ¢ Kn 04 4333
#KKn2 #10976 V 8 116 5 6 #K93 *84 vV 485 107 «K108 #96432 V44333
4 D74 4 E3 « E95
vD1075 v Kn8632 v Kn9
+ K7 + D82 ¢ E952
#E853 *Kn76 #ED75
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
12 1 44 N-1 +3 -50 10.0 0.0| 4 11 44 V= vT -420 90 10| 7 4 3NS+1 ¢6 430 10.0 0.0
2 8 44 N-2 +3 -100 50 50| 6 3 4aV= vT -420 90 10| 6 8 3NS= ¢4 400 70 3.0
4 11 44 N-2 L) -100 50 50| 2 8 5eV= vT -450 30 7.0|11 10 3NS= ¢T 400 7.0 3.0
5 7 44 N-2 &T -100 50 50| 5 7 44V+1 vT -450 30 70| 3 9 3NN-1 +6 -50 40 6.0
6 3 44 N-2 *4 -100 50 50|10 9 4e V+l SA -450 30 70| 5 1 3NS-2 +6 -100 1.0 9.0
10 9 54 N-3 2 -150 0.0 100|112 1 44 V+1 *A -450 30 70|12 2 3NS-2 +6 -100 10 90
4 «ED4 Bésta kontrakt 5 4102 Bésta kontrakt 6 4 E1076 Bésta kontrakt
Vast v DKn942 44 V =-130 Nord v 1098653 44 O =-420 Ost v EK10 ANT N =430
Alla + Kn53 NS 43 ov +6
#103 & ¢ v & NT *Kn64 & ¢ v & NT #EKN1074 & ¢ v & NT
4 K2 4109853 N38865 4 EK97 4Kn854 N457 34 & KKn3 «D9 N 109 7 1010
vE75 v8 S 38865 vK742 vE S 457 34 vKn852 v D9743 S 109 7 109
+109 ¢ E762 O 105 4 7 8 +92 ¢ KKn107 09 8 6 109 +Kn1084 ¢ E32 0246 33
#Kn98654 #EK7 V 105 4 7 8 K103 #D752 V886 99 %83 «D92 V24633
4 Kn76 4 D63 4 8542
v K1063 v DKn v6
+ KD84 + ED865 + KD975
«D2 #E98 *K65
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 8 3vS= «4 140 80 20| 6 2 2v S+l ¢9 140 100 00| 6 2 44 N+1 ¢2 450 10.0 0.0
7 4 3vyN= A 140 80 20| 1 11 440-1 vQ 50 70 3.0| 4 10 44 S= vJ 420 6.0 4.0
11 10 2v N+1 K 140 80 20| 4 10 440-1 vQ 50 70 30| 7 9 44 N-= v3 420 6.0 4.0
5 1 4aV-1 vQ 100 40 60| 7 9 2NV= ¢4 -120 40 60| 8 5 44 N= v3 420 6.0 4.0
3 9 240= v3 -110 20 80| 8 5 440= vQ -420 1.0 90| 1 11 44 N-1 v3 -50 1.0 90
12 2 2NV +1 a4 -150 0.0 10.0|12 3 44 0= ¢ A -420 10 90|12 3 24N-1 v4 -50 10 90
7 &« KD9875 Bésta kontrakt 8 #1053 Bésta kontrakt 9 4107632 Bésta kontrakt
Syd vK4 5¢v S =650 Vast v K9 3¢ N =110 Nord v73 ANT O =-630
Alla ¢ E953 Ingen ¢ KDKn52 ov ¢ 104
«10 & ¢ v & NT *K94 & ¢ v & NT #Kn976 & ¢ v & NT
a2 « EKn104 N 5 10111010 4 EKn82 497 N69 777 4954 ~ K8 N535 73
v D53 v 62 S 5 10111010 v8765 v1042 S6 9777 v95 v EKn104 S53573
¢ Kn10876 2 083232 ¢+E4 +1073 O7 446 4 ¢+ EK652 ¢ Kn987 O 8 108 6 10
&#KKn74 #D98652 V83232 #1075 #ED862 V74464 «D85 S»EK2 vV 7 108 6 9
463 4« KD64 4 EDKn
v EKn10987 v EDKn3 v KD862
+ KD4 + 986 +D3
#E3 #Kn3 #1043
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 1 4v S+1 43 650 70 30|12 4 24S-1 ¢ A -50 10.0 00| 3 2 INO+3 v6 -180 10.0 0.0
7 3 4v S+l «4 650 70 30| 2 1 3NN-2 »6 -100 40 6.0(12 5 3NO+1 v8 -630 8.0 20
8 10 4v S+1 42 650 70 30| 5 11 3NN-2 »6 -100 40 60| 6 1 3NO+2 vK -660 30 7.0
12 4 49y S+1 42 650 70 30| 7 3 3NN-2 *6 -100 40 60| 8 4 3NO+2 vK -660 30 7.0
5 11 4v S= 42 620 20 80| 8 10 3NN-2 *2 -100 40 6.0 9 11 3NO+2 vK -660 30 7.0
9 6 6vS-2 +J -200 0.0 100| 9 6 3NN-2 »6 -100 40 6.0(10 7 3NO+2 vQ -660 30 7.0

Nykdpings BS, KM Par 2 2024-01-24, sida 1 av 3




10 4 KKn108 Basta kontrakt 11 4 DKn10854 Basta kontrakt 12 4765 Basta kontrakt
Ost v 863 4v S D -2 -500 Syd v2 34 SD-1-100 Vast v 10942 44 V =-420
Alla +5 Ingen +E NS + 10952
#K8743 & ¢ v & NT #E10862 & ¢ v & NT *74 & ¢ v & NT
465 & E42 N6 288 4 & EK7 32 N8 4384 «ED 4KKn10943 N 3 5 7 2 3
v K105 vE7 S6 3884 v D63 vYEKKNn975 S 8 4 3 8 4 v Kn7 v 853 S35723
¢ K109762 ¢ DKn84 O 7 105 5 9 +D72 ¢ Kn1098 0489 48 + KKn4 + D87 09 8 6 108
&E2 #Kn1096 vV 7 105 5 9 #DKn97 #4 V 489 48 #EKKN853 #9 V 9 8 6 108
« D973 + 96 » 82
v DKn942 v 1084 v EKD6
¢ E3 + K6543 ¢ E63
»D5 #K53 »D1062
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
9 11 5¢ O-1 47 100 100 00|10 1 5v0-1 49 50 90 10|11 8 3aV-1 vT 50 10.0 0.0
10 7 4e V= v8 -130 80 20|11 8 5v0-1 49 50 90 10| 4 3 440-= vA -420 40 6.0
3 2 4eVH1 v8 -150 6.0 40| 7 2 4v 0= 49 -420 50 50| 7 2 4e V= »7 -420 40 6.0
12 5 3NO= v2 -600 40 6.0(12 6 4v 0= 46 -420 50 50| 9 5 440= vA -420 40 6.0
8 4 3NV+1 v8 -630 20 80| 4 3 4v0O+1 49 -450 10 9.0[(10 1 440-= vK -420 40 6.0
6 1 3NV+2 *4 -660 0.0 100| 9 5 4v O+l 49 -450 10 90|12 6 44 0= vA -420 40 6.0
13 & KKn2 Basta kontrakt 14 D5 Basta kontrakt 15 4 D3 Basta kontrakt
Nord v KKn862 44 O =-130 Ost v 65 4ANT O =-430 Syd v 9853 64 V =-980
Alla + D7 Ingen 498532 NS + Kn5
#972 & ¢ v & NT #9852 & ¢ v & NT #E10942 & ¢ v & NT
483 « E1094 N3 65605 4 Knl104 4 E983 N3 4433 « EKn942 4108765 N7 1712
vE73 v 1094 S365675 vKn843 vED S34433 v 62 vEK S71712
¢E6432 +8 O 106 7 7 8 ¢+ KD10 ¢ Kn74 O 109 8 1010 ¢+ K84 ¢ED10963 O 6 126 1210
#KDKn #E10643 vV 106 7 7 8 #Kn43 #EKDI10 V99899 #KKn6 »- V 6 126 1211
D765 4 K762 a K
v D5 v K10972 v DKn1074
+ KKn1095 + E6 ¢ 72
#85 »76 #D8753
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
8 3 2¢V-2 9 200 100 00 1 9 3NV+1 +9 -430 60 40| 9 4 5aV= *A -450 100 0.0
5 4 1vyN-1 +8 -100 80 20| 5 4 3NO+1 v7 -430 6.0 40| 1 3 4eV+2 +J -480 50 5.0
1 9 2NV= v6 -120 30 70| 8 3 3NO+1 v2 -430 6.0 40| 2 10 4a V+2 +J -480 50 5.0
10 6 INV+1 *7 -120 30 70|11 2 3NO+1 v9 -430 6.0 40| 6 5 54 V+1 *A -480 50 5.0
11 2 INV+1 v6 -120 30 70|12 7 3NO+1 v7 -430 6.0 40|12 8 44 V+2 *A -480 50 5.0
12 7 INV+1 v6 -120 30 70|10 6 3NO+2 v2 -460 00 100|11 7 64 V= *A -980 0.0 10.0
16 » Kn1096 Bésta kontrakt 17 4 D1098764 Bésta kontrakt 18 & Kn6 Bésta kontrakt
Vast v Kn8 6y V =-1430 Nord v 104 6v O =-980 Ost v D854 2NT O =-120
oV ¢ EKD10 Ingen +73 NS + DKn1062
*K84 & ¢ v & NT 82 & ¢ v & NT *Kn3 & ¢ v & NT
s E742 &« KD5 N65021 4 EK53 - N3 1162 « D107 & K82 N47 5605
vK1096543 vED S66121 vDKn97 vE8532 S3116 2 v732 v EKn106 S47565
¢- 497652 07 7 12119 ¢+ K964 ¢ ED52 O 1012127 11 +9 ¢ 87543 096 87 8
*E3 D102 vV 7 7 12119 *E #DKn109 vV 9 12127 11 #EKD762 #9 V967738
483 4 Kn2 & E9543
v72 v K6 v K9
+ Kn843 + Kn108 ¢+ EK
#Kn9765 #K76543 #10854
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 5 4v V+l *A -650 80 20| 1 8 6v0O= *7 -980 50 50| 3 11 2¢ N= *9 90 10.0 0.0
9 4 4v V+1l ¢A -650 80 20| 2 4 6v0= *J -980 50 50| 7 6 3a&V-1 +Q 50 80 20
12 8 4v V+1 *A -650 80 20| 3 11 6v V= *7 -980 50 50| 1 8 3aV= s -110 40 6.0
1 3 4v V+2 *A -680 20 80| 7 6 6y V= +J -980 50 50| 2 4 3aV= 46 -110 40 6.0
2 10 4v V+2 ¢A -680 20 80|10 5 6y V= *T -980 50 50|10 5 2&V+1 s -110 40 6.0
11 7 5v V+1 ¢ A -680 20 80|12 9 6vO= a2 -980 50 50|12 9 24DV +1 &J -280 0.0 10.0
19 «ED4 Bésta kontrakt 20 4 D42 Bésta kontrakt 21 #6532 Bésta kontrakt
Syd vD76 4v V =-620 Vast v K10952 34 V =-140 Nord v EKD 4¢ OD-3500
oV + 863 Alla +52 NS +ED
#D1097 & ¢ v & NT #KD5 & ¢ v & NT #10853 & ¢ v & NT
2 Kn763 4K108 N55334 « KKn98 #1065 N437 45 « ED8 « Kn10 N8 6 6 8 8
vK1095 ¢EB832 S55334 vEKn vD3 S43745 vKn9532 v 10764 S96 6809
¢+ K2 ¢ DKn4 O 8 8 109 9 ¢ EKD104 ¢ Kn98 O 8 105 9 8 + 8742 ¢ 10965 037754
*EK3 *642 vV 8 8 109 9 *74 #E10982 vV 9 105 9 8 *K *E62 V37754
4952 & E73 4 K974
v Kn4 v 8764 v8
+ E10975 4763 ¢ KKn3
#Kn85 #Kn63 #DKn974
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 1 4y V-1 «9 100 100 00| 2 9 4e V-1 42 100 80 20| 3 10 44 N-1 *A -100 80 20
3 5 2vV+2 +6 -170 70 30| 3 5 3NV-1 v5 100 80 20| 4 6 44N-1 *T -100 8.0 20
8 7 1lvy V43 *7 -170 70 30| 8 7 2NO-1 v8 100 80 20|12 11 44 N-1 *T -100 80 20
2 9 4v V= +8 -620 20 80| 4 1 3¢V+1 v5 -130 40 60| 1 7 44 N-2 L) -200 20 8.0
11 6 4v V= +8 -620 20 80|11 6 24 V+1 v2 -140 20 80| 5 2 44 N-2 *T -200 20 80
12 10 4v V= s A -620 20 80|12 10 3NV= v2 -600 0.0 100| 9 8 44 N-2 *T -200 20 80
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Ay

22 » EK87 Basta kontrakt
Ost vED 64 S =980
ov +E5
&ED1075 & ¢ v & NT
«4D1052 o- N9 8 4 129
v10754 v KKn963 S 96 4 128
*2 ¢+ DKn10743 O3 4 7 0 3
&#KKn64 82 V45914
& Kn9643
v 382
+ K986
493
Par Kontr Ut Res Poang
9 8 44 N= ¢Q 420 100 0.0
3 10 34 N+2 *J 200 80 20
1 7 3&N+1 v9 130 6.0 4.0
4 6 64 S-2 *2 -100 20 8.0
5 2 64 S-2 *2 -100 20 8.0
2 11 38 N-2 +Q -100 20 8.0
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